
Name: _____________________________________

     Chapters 5 - 6
 

 1. Why was May Belle upset with Janice Avery? What did she want Jesse to do about it?

____________________________________________________________________________________

____________________________________________________________________________________

 

 2.   Explain Jess and Leslie's plan to make Janice Avery pay for her behavior.  Did it work?

____________________________________________________________________________________

____________________________________________________________________________________

 3. Jess was having a hard time finding a Christmas present for Leslie because he wanted 

to give her something...

a.  she would love. b.  he could be proud of.

c.  very expensive. d.  John Simmons

 4. Fill in the blank.

Jess gave Leslie a  ________________________________________________ for Christmas.

Leslie gave Jess a  ________________________________________________ for Christmas
 

  5. Why was Jesse's dad angry on Christmas morning? How do you think it made Jess feel?

____________________________________________________________________________________

____________________________________________________________________________________
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ANSWER KEY

   Chapters 5 - 6

 
 1. Why was May Belle upset with Janice Avery? What did she want Jesse to do about it?

May Belle was upset with Janice Avery because Janice stole her Twinkie.  May Belle 

expected Jesse to take care of the situation by beating Janice into a million pieces.
 

 2.   Explain Jess and Leslie's plan to make Janice Avery pay for her behavior.  Did it work?

Jess and Leslie knew they had to devise a plan to make Janice pay for her bad 

behavior, but it could not be traced back to them.  They realized that the thing that 

would bother Janice the most was making her feel like a fool.  So, they wrote a fake 

love letter from a boy that she liked, knowing Janice would tell people about it.  Their 

plan worked and Janice was embarrassed by the whole situation. 

 3. Jess was having a hard time finding a Christmas present for Leslie because he wanted 

to give her something...  b

a.  she would love. b.  he could be proud of.

c.  very expensive. d.  John Simmons

  4. Fill in the blank.

Jess gave Leslie a  puppy  for Christmas.

Leslie gave Jess a  box of water colors, brushes, and paper  for Christmas
 

  5. Why was Jesse's dad angry on Christmas morning? How do you think it made Jess feel?

Jesse's dad was angry because the train set he bought for Jesse wasn't working 

properly.  I think it made Jess feel sad, because he couldn't even make his father 

happy by playing with a toy that he bought for him.
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